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101|R#A7 L 288 44 244 Kg |EE 1,512 810| & 2,484 270
102|357 L 1,777 1,777| Kg BIE 1,593 505
111|&EEF £ 263 263| Kg =40 1,998 540
113|RAV S 233 7 226| Kg |EE 1,728 1,404| & 3,024 864
114|B5EFE 116 116 Kg e 2,970 1,620
117[14 % 247 6 241 Kg |EE 1,728 I35 3,996 1,080
121{hblE € 23 10 13| Kg |EE 864 =35 864
134[#= 564 340 224 Kg |EE 2,200 1,000| £ 2,484 1,404
137|&5E3.< 3 3 Ke K5 3,942
140(5 I 5 5| Kg s 6,059
147|E2 O 44 44| Kg |EE 8,643 B - HEA 15,000 7,000
168|BIEH AL H 453 453|  Kg BR 2,592 540
201|{Lb L 356 356| Kg e - == 1,944 300
205|3L8 L 21 21| Kg FfE 576
206| = 1F 380 380| Kg X 756 346
207| & A% 16 16| Kg imE 972
208| Mo % 340 340| Kg = 1,620 525
210{1F AL 240 232 8| Keg |EiF 5,400 972| 15 2,025
212|&5E.3 Y 124 124|  Kg we 3,078 1,836
222|052 192 192| Kg = 360 144
252| VA EECH 219 219 Kg |7 3,240 1,404
254|E b ECH 619 619| Kg =] 2,052 702
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303[A 27z 117 3 114 Kg [@&F 648 B 1,080 936
305|xAah>0b 34 34 Kg |& 2,700

306|Le &Y 36 36 Kg ik 1,080 648
315|7: b5 6 8 8] Kg = I 3,348

3191 h o 546 49 4971 Kg |f&@# 972 =F - mEB 1,944 972
3321 WA =EF 211 2111 Kg i 2,808 1,404
3BlHHY 51 11 40| Kg |8&BE 3,780 FEE 4,536 3,240
3541 <Y 24 241 Kg 2RIk 1,188 1,080
3/5|HEY) 95 10 85| Kg |dbBE 1,188 1,080|dtB:E - HE 1,188 600
356|L LA 25 25| Kg SER 1,080 864
357\ E 17 171 Kg FEE 10,260 945
362| & 21 21 Kg FJE 2,160 1,620
401|H W 70 70 Kg FAN 2,052 1,620
4025 5 &E 150 150 Kg A0 6,750 3,672
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523| A EAAT 2 O 75 75| Kg Bh 3,600 1,083
54| AEE E XV 119 119| Kg =] 1,590 1,500
554\ XX BIA AR 100 100[ Kg b 1,300 1,250
558|# 10 10| Kg b 1,296
560|472 264 264| Kg =3 b 3,996 1,850
566|458 < 120 120| Kg JeimE - A 2,300 1,404
576|4R & 1F 25 25| Kg b 1,250
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70110 BA 2,374 2,374 Kg B 2,916 1,512
71019 2 ®HA0F 20 201 Kg = I 945
BlBEFALANIN 10 10 Kg SR 1,998
755(Fd L 21 21 Kg B 637
76l|1b Y AEE 18 18 Kg FOarL 2,340
01 [IBAL = 1T 92 921 Kg == 1,728 1,242
802|1 x| 100 1001 Kg gl 1,814 389
8051 1E 152 152 Kg JbiF 1,231 716
810|FAKF 454 454  Kg bF 2,484 236
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